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(b} The energy corresponding 1o 14 m. u. js -
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o . . 2. (@) In Newton's ring experiment. the Diameter of
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Or

Explain the conditions for maxima and minima

for diffraction at a single slit.
What is a wave function 7 What are the
necessary conditions of Physically acceptable
wave function ?
Establish the relation between group velocity,
Phase velocity and Particle velocity.
Or
What is Compton effect 7 Derive an expression
for Compton shift.
The frequency of SMHz is applicd to dees of
cyclotron. Caleulate the magnetic induction to
accelerate a particle of mass 1.602 x 10 21 ke.
What is a Betatron 7 Derive the betatron
condition for successful acceleration of electrons.
Or

Describe a nuclear reactor. How does it work ?

http://www.onlinebu.com

6

6

-

6

Turn Over

dny

woa ngauljuormmm//

wod ngauluommm//f:diy

http://www.onlinebu.com

b

5, {a)

(b)

What-are cardinal points of a coaxial optical
system. ?
Describe  construction and  working of a
Ramsden's:eyepicce,

Or

Two thin convex lenses of focal lengths 12 cm
and 4 cm are separated by 8 cm. Plot the
positions of the cardinal points for the

combination.

6. Discuss in detail Foches method for finding the

coefficient of thermal conductivity of a metal bar.

(i

What is Stefan’s law of radiation ? Give a laboratory

method for determining Stefan’s constant,
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